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1	Introduction
Regarding the impact of polarization basis mismatch, methods to solve the issues and enhance the EIRP measurement (peak and spherical coverage) were discussed for several meetings. This contribution proposes a solution to minimize the impact of polarization basis mismatch.
2	Discussion
The mismatch in polarization basis between the UE and test equipment (TE) will cause the 3dB polarization gain not captured properly. To achieve the correct max transmitted power measurement, two problems should be solved.
1. How to activate the UE two polarization transmit?
2. How to capture the total transmitted power properly?
For activating the two polarization transmit, R4-1904192 has summarized cases when circular polarization is used by TE for uplink and downlink transmission [1]. From the figure below, it can be concluded that circular polarization downlink transmission by TE can guarantee the UE transmitted with two polarization (corresponding to TX0 and TX1 in the figure).
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When UE transmitting with two linear polarizations, the combination of the two polarizations could be linear, circular or elliptical polarization depending on the phase difference between the two transmitting signals. No matter which kind of polarization combined, the antenna with two linear orthogonal polarizations is capable to capture the power with the polarization gain.
In summary, the test system which can minimize the impact of polarization basis mismatch should have the following functions, as shown in the following figure.
1. TE transmits downlink signals with circular polarization.
2. TE measures uplink signals with two linear orthogonal polarizations.
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Proposal: consider the test system having the following functions for the EIRP test cases to minimize the impact of polarization basis mismatch.
1. TE transmits downlink signals with circular polarization.
2. TE measures uplink signals with two linear orthogonal polarizations.
3	Conclusion
Proposal: consider the test system having the following functions for the EIRP test cases to minimize the impact of polarization basis mismatch.
1. TE transmits downlink signals with circular polarization.
2. TE measures uplink signals with two linear orthogonal polarizations.
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